a(d cot(B))

----- -l 102

1072

T T T 17
=
<

)

Ratio
-k
ey
Ratio

-

Toaaas

0.9/ 11t Fa{trk

08 1 1 1 1 1 08 1 1 1 1 1
-3 -2 -1 0 1 2 3 -3 -2 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__mkFit-DQM_original
—e— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated}{0
—— DQM_TT__mkFit-DQM_original_newwindows

— -~ 1
IS IS i
S S
2 2
~ -~
< -
° o
o 2
) e}

107

e 111011 A ST I |

2 . H H
1 i ] b b
Mt - - 41--H{A L HAEE L EHH L EE Ll 1

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ratio

1072

1.z

1.3

Ratio
Trrrrr

e
+

iy

0.9
0.g!

0 1 2 3
TP n (PCA to beamline)

oo
|

N
|



	Contents
	Page 1


